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MID-TERM EXAM

Answer THREE of the following questions.

1.
The exchange of commodities in capitalism is the process through which exploitative social relationships are reproduced.  Discuss.

2.
What is Marx’s explanation for the source of value and the origin of profits?

3.
“The death knell of capitalist private property sounds.  The expropriators are expropriated.”  Describe the set of arguments developed by Marx to reach this conclusion.

4.
What is underconsumption and how does it lead to a realization crisis?

5.
According to Means, what implications does the separation of ownership from control have for the operation of the business enterprise?

6.
According the Steindl, how does big business produce a tendency for economic stagnation in a capitalist economy?

7.
How does the existence of administered prices affect the utilization of economic resources over the business cycle?

8.
Kalecki argued the being an instrument of the ruling capitalist class, the state cannot promote full employment.  Why?
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EXAM I

Marxian Background to the Monopoly Capital Tradition

Answer THREE of the following questions.

1.
Given the following corn model:  (7cpc)(1 + r)  + 7lw = 28cpc
a.
solve for the rate of profit when w = 1cpc.

 
b.
now assume that the wage rate is increased to w = 2cpc, what direction will the 



rate of profit move and why?


c.
what is the maximum rate of profit and the maximum real wage rate?

d.
now let us assume that the production of corn has expanded so that a lower quality of land is taken into cultivation; thus production on this land can be delineated as followed:



(14cpc)(1 + r) + 7lw = 28cpc
          

(i)
solve for the new rate of profit when w = 1pc.


(ii)
how much rent does the landlord of the most fertile land get? 

(iii)
if a tax is placed on rent, what happens to the rate of profit?  

2.
What is the relationship between socialism and Marx’s economic analysis of capitalism?

3.
“Capitalism is a historically contingent social system of production”.  What does this statement mean and what implications flow from it?

4.
The exchange of commodities in capitalism is the process through which exploitative social relationships are reproduced.  Discuss.

5.
What is Marx’s explanation for the source of value and the origin of profits?

6.
“The death knell of capitalist private property sounds.  The expropriators are expropriated.”  Describe the set of arguments developed by Marx to reach this conclusion.

7.
What is expanded reproduction?  How does an unbalanced expanded reproduction lead to a realization crisis and the possible breakdown of capitalism?

8.
What is underconsumption and how does it lead to a realization crisis?
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EXAM I

Marxian Background to the Monopoly Capital Tradition

Answer THREE of the following questions.

1.
Given the following corn model:  (7cpc)(1 + r)  + 7lw = 28cpc
a.
solve for the rate of profit when w = 1cpc.

 
b.
now assume that the wage rate is increased to w = 2cpc, what direction will the 



rate of profit move and why?


c.
what is the maximum rate of profit and the maximum real wage rate?

d.
now let us assume that the production of corn has expanded so that a lower quality of land is taken into cultivation; thus production on this land can be delineated as followed:



(14cpc)(1 + r) + 7lw = 28cpc
          

(i)
solve for the new rate of profit when w = 1pc.


(ii)
how much rent does the landlord of the most fertile land get? 

(iii)
if a tax is placed on rent, what happens to the rate of profit?  

2.
What is the relationship between socialism and Marx’s economic analysis of capitalism?

3.
“Capitalism is a historically contingent social system of production”.  What does this statement mean and what implications flow from it?

4.
The exchange of commodities in capitalism is the process through which exploitative social relationships are reproduced.  Discuss.

5.
What is Marx’s explanation for the source of value and the origin of profits?

6.
“The death knell of capitalist private property sounds.  The expropriators are expropriated.”  Describe the set of arguments developed by Marx to reach this conclusion.

7.
What is expanded reproduction?  How does an unbalanced expanded reproduction lead to a realization crisis and the possible breakdown of capitalism?

8.
What is underconsumption and how does it lead to a realization crisis?
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EXAM I

Radical Economic Theory in the 19th Century:  Classical, Socialist, Marxist Traditions

Answer THREE of the following questions.

1.
In terms of theory, why is the surplus approach of radical economics so radically different from the neoclassical approach which is based on the allocation of scarce resources among competing ends?

2.
“The death knell of capitalist private property sounds.  The expropriators are expropriated.”  Describe the set of arguments developed by Marx to reach this conclusion.

3.
Capitalism is anarchic, uncoordinated, and wasteful.  Is this a coherent statement?  Is this a radical statement?

4.
Believing that capitalism is immoral and creates ugliness is not a economic critique of capitalism and therefore should be ignored.  Discuss.

5.
What role does the labor theory of value play in Marx’s radical critique of capitalism?

6.
Given the following corn model:

(7cpc)(1 + r)  + 7lw = 28cpc
a.
solve for the rate of profit when w = 1cpc.

 
b.
now assume that the wage rate is increased to w = 2cpc, what direction will the 



rate of profit move and why?


c.
what is the maximum rate of profit and the maximum real wage rate?

d.
now let us assume that the production of corn has expanded so that a lower quality of land is taken into cultivation; thus production on this land can be delineated as followed:



(14cpc)(1 + r) + 7lw = 28cpc
          

(i)
solve for the new rate of profit when w = 1pc.


(ii)
how much rent does the landlord of the most fertile land get? 

(iii)
if a tax is placed on rent, what happens to the rate of profit?  
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EXAM II

Contributions to the Monopoly Capital Tradition and Monopoly Capital

Answer FOUR of the following questions.

1.
How does monopoly capital and big business produce a tendency for economic stagnation in a capitalist economy?

2.
How does the existence of administered prices affect the utilization of economic resources over the business cycle?

3.
According to Orwell qua Emmanuel Goldstein, why is war and militarism the only viable way for capitalism to maintain full employment?

4.
What do Baran and Sweezy mean when they state that “American capitalism is an irrational system”?

5.
Being an instrument of the ruling capitalist class, the state cannot promote full employment through expenditures on civilian goods.  Discuss.

6.
The instruments of control in a capitalist economy are the profit mark up and investment expenditures.  Discuss.

7.
Under monopoly capitalism why is it not possible for the large corporation to stimulate enough demand through investment and dividends to utilize all the potential surplus?

8.
Explain Classical Marxists’ (Marx, Lenin, and Hilferding) theory of imperialism, and then 

compare it with monopoly capital theorist’s (Baran, Sweezy, and Magdoff) accounts of imperialism. 

9.
In the monopoly capital tradition growth, stagnation, and unequal development are 
interconnected. Explain. 

10.
Why are racism, poverty, and the commodification of lives and social relationships necessary components of monopoly capitalism?

11.
Kalecki argued that either capitalism must be fundamentally reformed if it was to be made able to sustain full employment or, if it proved incapable of adjusting to such reforms, it must be replaced.  Discuss.
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EXAM II

Contributions to the Monopoly Capital Tradition and Monopoly Capital

Answer THREE of the following questions.

1.
How does monopoly capital and big business produce a tendency for economic stagnation in a capitalist economy?
2.
How does the existence of administered prices affect the utilization of economic resources over the business cycle?
3.
“The best full employment policy for a capitalist system is war.”  Discuss.
4.
What do Baran and Sweezy mean when they state that “American capitalism is an irrational system”?
5.
Being an instrument of the ruling capitalist class, the state cannot promote full employment through expenditures on civilian goods.  Discuss.
6.
The instruments of control in a capitalist economy are the profit mark up and investment expenditures.  Discuss.
7.
American foreign policy in Iraq and domestic policy regarding abortions and affirmative action 

are components of the Bush administration full employment policy for American workers.  Discuss from a monopoly capital perspective.
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FINAL EXAM

Radical Economic Theory in the 20th Century
Answer any FOUR questions.

1.
What is sabotage and why did Veblen’s work on sabotage represent a radical critique of 

American capitalism?

2.
What is Veblen’s theory of human nature and behavior and why is this radical theory with 

respect to neoclassical OR Classical/Marxian theory?

3.
Why is the normal tendency of monopoly capitalism to waste resources and output?

4.
Under monopoly capitalism, why is the State prevented from increasing expenditures on civilian needs/social services or being the employer of last resort to drive the economy to full employment?

5.
What makes the theory of monopoly capital radical economy theory?

6.
Compared to neoclassical economic theory, in what ways is Post Keynesian theory radical economic theory?

7.
Does the emergence of the large business enterprise lead to economic stagnation?  Yes or No?  Explain why. 

8.
In what ways is Keynes’s General Theory radical economic theory?

9.
Compared to Marxian theory of prices and profits, Post Keynesian theory of prices and profits is radical economic theory.  Discuss.

10.
Relative to Classical/Marxian economic theory, the emerging supply and demand theory of prices and profits in the 1870s was radical economic theory.  Yes or No?  Discuss.

